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Q1. If the election were held today and the candidates were Nathan Deal, the incumbent Republican,

Jason Carter, a Democrat, and Andrew Hunt, a Libertarian, for which candidate would you vote?

Republican Nathan Deal
Democrat Jason Carter
Libertarian Andrew Hunt
Undecided

Republican Nathan Deal
Democrat Jason Carter
Libertarian Andrew Hunt
Undecided

| Gender Age |
Total Male Female 18-39 40-64 65 or over
(1108) (509) (599) (223) (613) (272)
% % % % % %
43.7 49.9 38.4 44 .1 39.8 52.3
46.8 39.1 53.4 46.8 49.6 40.4
4.3 6.3 2.5 7.7 4.1 1.8
5.2 4.7 5.7 1.4 6.5 5.5
| Race | Party |
African-American White Other Republican Democrat Other Independent
(324) (717) (67) (503) (416) (57) (132)
% % % % % % %
12.0 60.4 17.9 81.9 4.8 21.1 30.1
78.8 30.4 67.1 10.7 90.7 42.0 48.8
1.2 5.4 7.5 4.6 0.2 28.1 5.3
8.0 3.8 7.5 2.8 4.3 8.8 15.8



Q2. If the election for US Senate were held today and the candidates were David Perdue, the Republican, Michelle Nunn,
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the Democrat, or Amanda Swafford, the Libertarian, for which candidate would you vote?

Republican David Perdue
Democrat Michelle Nunn
Libertarian Amanda Swafford
Undecided

Republican David Perdue
Democrat Michelle Nunn
Libertarian Amanda Swafford
Undecided

| Gender Age |
Total Male Female 18-39 40-64 65 or over
(1108) (509) (599) (223) (613) (272)
% % % % % %
43.4 48.9 38.8 43.7 39.5 52.0
46.0 39.2 51.7 40.1 50.1 41.8
6.4 8.6 4.5 11.7 6.0 2.9
4.2 3.3 5.0 4.5 4.4 3.3
| Race | Party |
African-American White Other Republican Democrat Other Independent
(324) (717) (67) (503) (416) (57) (132)
% % % % % % %
9.0 61.8 13.6 83.0 1.9 23.2 32.6
82.6 27.1 71.2 7.1 91.6 42.8 52.3
2.8 7.9 7.6 7.1 3.1 28.6 4.5
5.6 3.2 7.6 2.8 3.4 5.4 10.6
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Q3.If the election for Lt. Governor were held today and the candidates were Casey Cagle, the incumbent Republican,
and Connie Stokes, the Democrat, for which candidate would you vote?

| Gender Age |
Total Male Female 18-39 40-64 65 or over
(1108) (509) (599) (223) (613) (272)
% % % % % %
Republican Casey Cagle 49.6 57.6 42.7 51.1 46.5 55.3
Democrat Connie Stokes 41.0 33.4 47.6 35.4 45.5 35.5
Undecided 9.4 9.0 9.7 13.5 8.0 9.2
| Race | Party |
African-American White Other Republican Democrat Other Independent
(324) (717) (67) (503) (416) (57) (132)
% % % % % % %
Republican Casey Cagle 13.2 68.2 26.9 90.4 5.3 38.6 37.6
Democrat Connie Stokes 73.0 24.4 62.7 5.6 84.6 35.1 42.1
Undecided 13.8 7.4 10.4 4.0 10.1 26.3 20.3



